Mathematics
Arithmetic: Test 6
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Key Stage 2: Year 3: arithmetic test 6

vk
1 | 719+ 100 = !
2 | 582-100 = !
3 73 + 50 = !
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4 | 715-30=

5 | 659 +300-=

6 | 249-200 =
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] | 183 +638=

8 | 701-456=

qQ | 4x8=

©twinkl.co.uk. You may photocopy this page. ¢



10 | 96 = 8 =

11 | 33x6=

12 | 88x5=
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13 | 84+ 4=

14
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Answer Sheet: Key Stage 2: Year 3: arithmetic test 6

Guidance: Children will have 30 minutes for this test.

question answer marks
1 819 1
2 482 1
3 123 1
4 685 1
5 959 1
6 49 1
7 821 1
8 245 1
9 32 1
10 12 1
11 198 1
12 440 1
13 21 1
14 Lord 1
15 Zor~ 1

Total 15
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